


Example of a 20 cents token issued by Ingenio Ledesma, a sugar cane mill in
northern Argentina (Jujuy). The usual pay for a Mataco (indigenous people

of Wichí origin) was 12 token pesos per month plus food; rations were

exchanged against rubber tokens given at the end of the day journey. See J.

B. Massé. El estado de las clases obreras a comienzos del siglo. Cordoba:
Universidad Nacional de Cordoba, 1968.
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1 Ensuring, as a result, the right to own, fractionalize and to transfer 
property. 



“Sorry to be a wet blanket. Writing a 
description for this thing for general 

audiences is bloody hard. There's 
nothing to relate it to.”



Anyway, let’s
make a try.



The original 
design sketch
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2 It is worth noting that we speak of a “geometry” in order to facilitate visualization. ARES is basically a container of numeric high-order data. Compared to a “geometric” construct which 
must meet strict mathematical or physical properties, this is not necessarily the case for every use of numeric data. See, e.g. A. P. Harrison and D. Joseph. Numeric Tensor Framework: 
Exploiting and Extending Einstein Notation. Journal of Computational Science, 16 (2016), pp. 128-139.





Think about 

each box as a 

cell in ARES

Think of the 
whole pallet of 

boxes as ARES 

ARES token and its cell structure Think each box 
contains information
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Looking under 
the skin of 

ARES
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3 Although algebraically not required, the procedure “hardens” the information encoding and guards against the intentional mixing of vectors. In other words, it ensures each token is 
indivisible.
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vec(Tk)=Rk

q=1,..,(I J) Rk(q) q k.

I=7 J=5 t4,3 q=18 Rk(18)=10. 

4 The alternative is to resort to matricization (also known as tensor unfolding or flattening). The interested reader, e.g. can read the seminal paper by Tammy Kolda and Brett Bader, Tensor 
decompositions and applications. SIAM Review, 51(3), September 2009, pp. 455–500. In terms of computation, both methods have their advantages and disadvantages.



i=1, j=1

i=7, j=5

k=1,…,K

t7,5,1=35 7

5 1

t1,1,2=36. 

3 In a similar fashion, we can drop the index k to denote ARES as a whole; e.g. vec(T)=R implies that we are not referring to any particular slab of ARES but the whole construct.





ARES as part 
of our 

platform
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